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Read each question carefully before you start to answer it.
Keep an eye on the time. :

Try to answer every question.

Check your answers if you have time at the end.
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LT



1 There are 60 students at a college.

|

Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working,

20 students study both French and Spanish.
13 students study French but not Spanish.
A total of 43 students study Spanish.

(a) Complete the Venn diagram for this information.
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One of the students at the college is to be selected at random.

(b) Write down the probability that this student studies neither French nor Spanish.
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Describe fully the single transformation that maps triangle P onto triangle Q.

(Total for Question 2 is 2 marks)
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3 Jean records the maximum daily temperature each day for 10 days.
She also records the number of children going to a paddling pool for each of these days.

She draws this scatter graph for her information.
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Jean’s information for one of these days is an outlier on the scatter graph.

(a) Give a possible reason for this.

(b) What type of correlation does the scatter graph show? m/
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On the 11th day, the maximum daily temperature was 19°C,

(c) Write down an estimate for the number of children going to the paddling pool on
the 11th day.
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It would not be sensible to use the scatter graph to predict the number of children going
to the paddling pool on a day when the maximum daily temperature was 13 °C.

(d) Give a reason why.

.\ LOLAL O Question 3 is 4 marks) |
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4 The diagram shows a shape ABCDEF.
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All the corners of the shape are right angles.
The perimeter of the shape is 28 m.

Work out the area of ABCE shown shaded on the diagram.

5{2144 c DE = 4+2 =4

Romawiy = & 18 -(q*énﬂ) =13
FE = AR+3 Fe+AB =13
JoFE=%, AB=T
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T o = Sy + L3 =34
DNese Shadd = 38 -9 =13

. (Total for Question 4 is 5 marks)
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5 Solve the simultaneous equations ®
4x+y=10

x—5y=13
@)\5 ZO.)(."'ng =450 Q@)

D+ Llw  =€3
L =3

Sh wh O 3-5y213
L =l“5*5t1
~lo = Sy
L]‘—‘l x=3

(Total for Question 5 is 3 marks)
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(b) On the grid, draw the graph of y = = for values of x from 0.5 to 6
X
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. (Total for Question 6 is 4 marks)
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o i | 7 Gina finds out the price of a CD box set in three different countries.

The price is
£98 in the UK
$134.99 in the USA
€139.99 in Germany

The exchange rates are
£1=31.43
€1 =£0.73

Gina wants to pay the cheapest price for the box set.

(a) From which country should Gina buy the box set?
You must show how you get your answer.

> E 164 L1y 2943486014 U8
€A 13944 4013 TRV oy

aufc,,;ﬂbﬁ USA o £44- 40

Gina lives in the UK.

(b) Why might your answer to (a) not be the best country for Gina to buy the
box set from?

.. (Total for Question 7 is 4 marks)

Given that a:b=8:5 and b:c=3:4

find the ratio  a:b:c
Give your answer in its simplest form.

$. 5
3 >4 xg
2471570

(Total for Question 8 is 3 marks) )
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9 (a) Write 3.6 x 10" as an ordinary number.

(b) Work out the value of (2.8 x 107) + (4.7 x 10%)
Give your answer in standard form correct to 3 significant figures.

_ (Total for Question 9 is 3 marks)

- 10 The table shows pairs of values of x and y x1-7
X % 5 6 ! é
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(1) Tick the correct statement below. e l ,

x | 4t tvoo G4

(i) Write a formula for y in terms of x
| 7xx1
= bt
4od=h "
400 =25 h,
2,
h = l(a 9 = ’é)ﬁ

.. (Total for Question 10 is 4 marks)
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